Tuesday 9th February – Maths 
Watch the Youtube video then complete the tasks below: 
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Wiite <> or = in each of the circles to make the number
sentences correct:
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Two cars are for sale.
The first car costs £3,655 & M
The second car costs £1,755 more.

1) How much does the second car cost? £5,410

2) Mr Jones has £9,000
He wants to buy both cars.
Does he have enough money? |3 g 5 &5

Th HTO




image4.png
Greg says that ‘there is more than one
answer for the missing numbers in the
hundreds column. s he correct?
Explain your answer.




